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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

"lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AE_E2
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EQ4AE
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EQ4AE_E2, Day=16 (2025-06-08)
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EQ4AE

BYIE) | BRI (F)) | s (EA/ER) | BREE (B/R) | X8 SRR

06:15 75 40.0 0.07 BE| {Ri&e06:15 Fz (REAEHE)
07:15 75 40.0 0.07 BE| 1Ri%e07:15 F3h (RFAEREE)
08:45 75 40.0 0.07 BE| 1Ri%e08:45 Fzh (RFIERSE)
10:45 75 40.0 0.07 RS Rig@10:45 Fz (REAEHE)
12:00 75 40.0 0.07 BE| Ri%e12:00 Fzh (RFAERESE)
13:20 75 40.0 0.07 e BRi%e13:20 Fz (REERSE)
14:40 75 40.0 0.07 sl Rige14:40 Fz (REAEHE)
16:20 75 40.0 0.07 BS| 1Ri%e16:20 Fz (GREEESE)
23t 600.0 (8%) 320.0 323 KEC: 2340.0, PH: 6.5

HREHEREESTEBAT (54.0 : 34.0), ARE/kEREERE

EORGEBI AT R IR R R E Y (80 vs 93.0))
ZRIASERRIER34. 0 ml.

REXEEBPH (4.88) 5i&EPH (6.2) REK KA, BHHRE
REREEBIPH (4.88) 5FEMPH (6.0) RERK, BFHRE
RE X B RECE B fR oK.

[Bl&EC 5010.0 K&, EiXF{KECAE&HikER
HEEIHECE (2930.0 vs 5010.0) 5
REREBL I HEREC/PHE TR KL, FIREMIRELR R
ERGEBIPH (4.8) S5i&EE (6.2) REKK, BRE.
EORGEBIPH (4.8) 5#EAEI (6.5) REKK, BRE.
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EQ4AE

BYiE) | GEBERTIC (RD) | EBE (BA/FK) | BREE (F/R) | X8 e

05:55 60 30.0 0. 052 B 1Rige05:55 Fzh (REAEEE)
06:55 60 30.0 0. 052 BS| 1Ri%e06:55 Fzh (REIEESE)
07:55 60 30.0 0. 052 iE| 1Bi%e07:55 Fzh (REERSE)
08:55 60 30.0 0. 052 BE| 1Ri%e08:55 Fzh (KREERSE)
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REFRESIPH (4.82) 5i8%EPH (6.2) REKK, BH/T
REFRESIPH (4.82) S5FEMPH (6.08) RERK, AT

FE X 1 Bl RECE R R k.

RMEREBIEC (2516.0) 5FMEC (3020.0) REK K, FHRE
[@{&REC 4707.0 K&, EINFAKECAE &M IEER

HEERECE (3020. 0 vs 4707.0) Ris
REREBL I HEREC/PHETR K, FIREIIFREDR R

LRGERPH (4.8) 5iREE (6.2) REKK, BHRE.
EORGEBIPH (4.8) S5#EAVEI (6.5) REKK, BRE.




EQ4AE_E2, Day=14 (2025-06-06)

W pF———r————f——fF———F——— 600

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 502

387 390
20 + 14
240 33
0 186
0 I Warning: lcol [FVI',| "FVO’] missing 0
.

60 4 mmm v — ME
FRV

g o e R e—

.0

T
EY
o
o

T
N
o
o

FRV (ml d-1)

|

N
wo
o

N
(S
M_E

T
N
o

FRV (ml plant-1)

%L

15

0.6
0.4+

0.2 A
Warning: lcol ["WC1',| "WC2'] missing

0.0

2800 1 —optECO0=1800.0, setECB=2340.0 —é—  ECB*10%
® ECC

2600 - W ¢—¢—X

2400 @

| _optPHO=6.5, setPWB=6.5 _  _ __ ____ _ ]

6.5
6.0

5.5 - ®
—%—  PHB*10%
5.0 @ PHC °

80

Bylnit @18 01:45: ET=293 Fg=320.0 Ro=10.0

T
S
o
o

cumET (ml/plant)

60

40 -
- 200

L R R o |

ET (ml/hr/plant)

20 -

8@‘¢E3"

1 000 11 2] 3 | 4 6
A 2 I O B R R R R E | w % | % | ™| ®|m®

ByEt @14 19:04: ET=337 Fg=314.0 Ro=nan

60 - 400

40 -

- 200
20 -

ET (ml/hr/plant)

80 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E 2z % | | | % | | | % | w | | % w | w | % w | % % 5a]5n 5050 @
60 ! - 400
ByWoFv @D18 01:45: ET=233 Fg=270.0 Ro=8.0

40 -
- 200

ET (ml/hr/plant)

20 -

p—ry

107 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 A

0.6

0.4+

0.2+

0.0
1500 4

—_— 4
[ ) | _obs

1000 —@— PPFD_obs

500 A

cumET (ml/plant)

cumET (ml/plant)



18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

m=440, FV0=0
1.0
0.8 1
0.6
0.4 -
0.2 A
Warning: col ['M_E'] missing
T T T T 0-0 T T T T
700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=620,m FV0=0 m=670, FV0=0
8 - M_E 18.9 + - M_E
7 18. 8
6 18. 7
5 18. 6 -
4 18. 5 1
3 18. 4 4
2 18. 3 +
T T T T T T
620 625 630 670 675 680
m=830,m FV0=0 m=900,m FV0=0
7 M_E 18. 4 + o ME
6 18. 3 1
5 1 18.2 4
4 18.1 4
3 4 18. 0 1
2 17.9 4
1 17. 8 1
830 835 840 900 905 910

18.

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

m=510, FV0=0

Warning: col "M E'] missing

0.2

T T
0.4 0.6 0.8

m=720, FV0=0

—_

—0—

M_E

720

7é5 7II30
m=970,n FV0=0

—0—

M_E

970

975 980

18.

18.

18.

18.

19.

18.

18.

18.

m=570, FV0=0
—o— ME
6 .
4 .
2 .
0 .
570 575 580
m=770,m FV0=0
01 —o— ME
8 .
6 .
4 .
770 775 780




